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1. Write the equation of a parabola whose

graph is shown.
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2. Sketch a graph of the equation

f(x)=x2—6x+8

[dentify its vertex, intercepts and axis of

symmetry.
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f(x) =5x"=15x+10
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(x4—3x3—2x+1)+(x2—2x+3)

(x4—3x3—2x+1)+(x+3)

3x  —4x*=12x>-16
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Find all the zeros (real and imaginary) of the
function

g(x) =x"+4x’ —8x* +16x—48

Use the graphing calculator and synthetic
division to help you factor.

1) Write (4 - 2i)+(3 - i) in standard form.
2) Write (4 - 2i)-(3 - i) in standard form.
3) Write (4 - 2i)(3 - i) in standard form.
4)  Write (4-2i)/(3-i) in standard form.
5) Whatis the conjugate of 4 - 2i?
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